
Die a- oder 1. Konjugation 
 

Perfektstammformen 

 

  AKTIV   PASSIV 

 Indikativ  Konjunktiv Indikativ  Konjunktiv 

 

P  laudavi  laudaverim laudatus sum laudatus sim 

E laudavisti  laudaveris laudaus es laudatus sis 

R laudavit  laudaverit laudatus est laudatus sit 
F  

E laudavimus  laudaverimus laudati sumus laudati simus 

K laudavistis  laudaveritis laudati estis laudati sitis 

T laudaverunt  laudaverint laudati sunt laudati sint 
 

 Infinitiv: laudavisse  P.P.P.: laudatus, a, um  

    Infinitiv: laudatum esse 

 

 

 

 

P Indikativ  Konjunktiv Indikativ  Konjunktiv 

L 

U 

S  laudaveram  laudavissem laudatus eram laudatus essem 

Q  laudaveras  laudavisses laudatus eras laudatus esses 

U laudaverat  laudavisset laudatus erat laudatus esset 
A 

M laudaveramus laudavissemus laudati eramus laudati essemus 

P  laudaveratis  laudavissetis laudati eratis laudati essetis 

E laudaverant  laudavissent laudati erant laudati essent 
R  

F. 

 

 

 Indikativ   Indikativ   

 

F  laudavero   laudatus ero 

U  laudaveris   laudatus eris 

T  laudaverit   laudatus erit 
U  
R  laudaverimus  laudati erimus 

 laudaveritis   laudati eritis 

II laudaverint   laudati erunt 
  

 


